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GATITU MIXED SECONDARY SCHOOL
END OF TERM 1 2015
CRE FORM FOUR
(ANSWER ALL THE QUESTIONS)
NAME                                                                   ADM. NO 

1. a) Give five reasons why Jesus was rejected in Nazareth. (5mks)
            b)    Describes the healing of the paralytic (Luke 5:17-26)	(7 marks)			                                                                          
            c ) Give five reasons why a church leader may be rejected today.         (5 marks)
           d) Explain six consequences of HIV/AIDS on the family of the infected person.(6mks) 

2. a) Identify six differences between the circumcision of the Jews and Traditional African Communities.                                                                                               (6mks)                                                                                                                  
             (b) Give six factors that hinder Christians from being true disciples of Jesus.  (6mks)
  (c) Suggest five solutions that can help curb incest in the society.  (5mks

3. a) Explains six causes of disunity in the church today. (6mks)
	 (b)  How do Christian prepare today for the coming of the messiah.    (4 marks)                                                                                             
   (c) Give five reasons why abortion was rare in the Traditional African society. (5mks)
   (d) Discuss five factors that can influence one into prostitution. (5mks)
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